
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

7, 772 × ________ = 777.2 4, 399 × ________ = 43.99

5, 865 × ________ = 58.65 5, 17 × ________ = 51.7

2, 252 × ________ = 22.52 3, 097 × ________ = 309.7

4, 34 × ________ = 4340 7, 92 × ________ = 792

1, 345 × ________ = 134.5 3, 519 × ________ = 3519

5, 262 × ________ = 526.2 7, 84 × ________ = 78.4

3, 711 × ________ = 37.11 8, 551 × ________ = 855.1

5, 722 × ________ = 572.2 2, 445 × ________ = 244.5

6, 258 × ________ = 6258 5, 713 × ________ = 5713

7, 154 × ________ = 715.4 10, 823 × ________ = 10823
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

7, 772 × 100 = 777.2 4, 399 × 10 = 43.99

5, 865 × 10 = 58.65 5, 17 × 10 = 51.7

2, 252 × 10 = 22.52 3, 097 × 100 = 309.7

4, 34 × 1000 = 4340 7, 92 × 100 = 792

1, 345 × 100 = 134.5 3, 519 × 1000 = 3519

5, 262 × 100 = 526.2 7, 84 × 10 = 78.4

3, 711 × 10 = 37.11 8, 551 × 100 = 855.1

5, 722 × 100 = 572.2 2, 445 × 100 = 244.5

6, 258 × 1000 = 6258 5, 713 × 1000 = 5713

7, 154 × 100 = 715.4 10, 823 × 1000 = 10823
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